BYI7LI¥F—

X iHEER F sF AR

6H3H BEE] 6H4H KEH] 6H5H KeEE | 6H6H REEH] 6A7H R |
g g, T, ) ] T,
BESEFv—/\ L A CHR =[S SRR
KFI—H DoInHY5Y FII54 BEFEEDZOR—T FEUSENNT
N2 =L —FF¥y WA FADBRFIZ JL-IAE BB OEY
S—R—VDFTER— SUHTH EXOURI2 T
BEE 58 | BE |  B® S8 T B ) o8 | BE | BEg 58 | BE |  Bw o8 | &=
o: =) 206.00 |BE |- %4 206.00 |BE |- %4, 206.00 |BE |- &4 206.00 |BE |- %4 206.00 |BE
) 65.00 [LfE | 2B/ % 50.00 |V& | & 70.00 [FlKE| ZELFER 100.00 [AU7 | =& 70.00 [l
BHOE 1.50 |28 | K 25.00 X 84.00 IS 20.00 [E | & 84.00
K 78.65 ] 0.50 |FHeE
LESD 0.70 |EBE | 7U9 0K 5.00 [T |- 50 * 40.00 (A= | IcACA 10.00 [\BE | 5Y%HA 4.00 |BfR=
< FEc 20.00 |=H | A= 5.00 |7RIAE | Rita)-A 5.00 [EBE | FwARY 25.00 |[N\BE |- GBYCE 5.00 |EA6E
TS5 2.00 |B#BE| CAH 0.50 (A= \ 00 25.00 [\BE | @Y 0.60 |2iaR2
RIS 25.00 [BE |- A 2.00 [B@Es] VWATA 10.00 |5HE | Bl _ 0.08 |&HBE | BHA 0.30 |HIE |
RS 0.50 |ZRE | nalETL % 1.50 [S#Ra| ICACA 15.00 [ABE | —L&> 0.02 [BRER[ Ls>D 0.70 |ZE=
il 0.50 KB | FvAY 25.00 [\BE | FwRY 20.00 [A\BE | m&A—7 0.50 |BABR[ HUA 0.70 |FE
WA 0.30 [N\BE | =0>U 0.00 [A\EE | &%L 15.00 [\BE | mEJ—2X 11.00 |2B2| i 0.30 |E##E
TS5 1.00 |[B@ER[ J— 10.00 |&@RE | mr 5.00 [HRB | DRF-Y-X 0.70 |BaBR[
[cACA 10.00 [\BE |- ¥59H 1.50 [Bina| Wi 1.50 [HARE| Fo9H 2.00 (2B AEI 20.00 |BE
o 7.00 [\BE | sk 2.00 [ZEL [ LsoD 2.00 |ZEE | 550U X 0.05 [HHE | Leon 0.30 [\BE
T REX—T 0.30 [Bars| Bl _ 0.25 |HHE | ®E 0.50 |H#R S5 1.00 |2iaRa
e 0.50 |[BA@AE[ —L&> 0.02 (SBR[ HA _ 0.50 |EBR || FMEHRAET |  25.00 [HRE | BT 35.00 |FHAE
B 0.50 |HZHE ETYTE K 3.00 |[E#BR| [CALA 8.00 [\BE | ILALA 20.00 [N\BE
L&l 2.00 =R | £U< 50.00 BB | SRUHT 5.00 [ABE | £FOC 10.00 |EX#A
JFIrY 0.70 |H¥E | v—<L—F kx|  8.00 [RiRA| SRLHT 10.00 INEE | QLD 5.00 [ABE | _E> 10.00 [ABE
CE 1.00 |[EBR | 1cAl< 0.20 [N\BE |- sEIc< 20.00 | | iR 10.00 [ABE | AtICAIc®<|  15.00 [R#aE
5y 0.20 [N\BE | BB 0.15 |H#E 8.00 [N\&E | FLCA 20.00 |\&E
~KEF10 % | 25.00 |SRE |- LoD 3.00 [EBE | = 1500 |ABE | COED 1.00 [ZBE | »aL®HT 5.00 |\&=E
FpRY 25.00 |[\BE | &8 1.00 |H#6E | ICACA 15.00 [A\BE |- REA—F 0.70 [Riags| DU 7.00 [ATRE
o= 0.00 [N\BE AT_Alce<|10.00 1agaa] ) 120.00 “Lgo5D 4.60 |ZRR
ICACA 5.00 [\BE |- FMBHAET| 25.00 [HRE |- To5H 1.00 |B6ER| SHA 0.50 |HRE | BH 1.00 |HHE
F>NAZS 7.00 [fFRE | FEPS 50:00 InEE | o3iem> 15.00 [£BR [ LsoH 1.00 [ZBE | #VA 3.00 [ZER
SELHL 7.00 [N\BE | cALA 10.00 [\BE | ARZEHE 6.00 [ZE | Bls _ 0.20 |HHE | HhiE 1.00 [B##E
Len 0.30 [A\BE | »alLsHT 10.00 [A\BE | #£hod 00 |BER[ L&S 0.01 |[B#BA[ K 15.00
CRER—T 0.60 |RABE| FvA Y 15.00 [\BE | & 1.00 |R#BR[ CH 0.20 |ZR®E | LWATA 3.00 |FRE
7 100.00 iul) 5.00 [\BE | #YA 0.30 |E&=R .
5 0.30 |HRE | ~YrE 8.00 |BaR| K 100.00 SEAVFEE|  20.00 [BRAR| ARTE 20.00 [«onom
U 0.02 |BER| SNEDE 0.20 |H##E ~ EE 20.00 [Z2E [ @isir 5.00 |HH6RE
U 0.60 [Hias 1A 20.00 |Z& | FvRY 5.00 |\&E
FEnT) 4.00 |ERR2| Bk 0.40 |HZ#E HPASETE 20.00 [E8E | 205EF 0.00 [N\BE
=51 0.00 [\BE | —L&> 0.01 SRS HE 3.00 |BAME| VK 5.00 [\&E
[CACA 0.00 [ABE | K 90.00 X 15.00 SYING 2.00 [B@as
0L 25.00 |[\BE B 1.00 |RiaR2
S50 0.60 |HieE 7 100.00 |
TEPUCE 1.00 |BAAE REEHT 7.00 | EEE
B EEL 0.80 [Eiama
0.30 |E&=E
Som 2.00 =2k
iz 0.13 |8
i 0.50 |B£#
~L&5B 2.50 [=E;%




BY7 LIV —xIicHEsE sl R

_ 6H10H HEER | 6B11H KEEH | 6H12H KiEH | 6H13H AER [ 6H14H &iEH
&4 F4 4 éF;%L FH
HhEER R EUVZESAR FrOvhE>D
m)I2BHR—F AADH) BT LYRZ2—F hl?ﬂjbﬂr‘o)ﬂﬂiﬁﬂﬁ@h VRS54
HE BEROBEHA b val TI—YEATT—b F—N\<ATF1—CEEFEHIT
U PH DM DIRIRT
Bmf NE 7E Bt Ny R Bm# NaE BE Bmd o= 5 BEmd o= EE |
il 206.00 [Hg [ F3 206.00 [Hg |- F3 206.00 [Hg |- 43 206.00 [HE [ &3 206.00 |BE
o 70.00 PRLASE] & 70.00 |RILAER 65.00 [FRLERR [~ BEREOEA 123.00 [BfR=| <& 65.00 [
SETCE 2.00 [fEE= X 84.00 3’:35@* 3.00 [fEE |+ YL 20.00 |KE HHLE 2.00 |#EEE
X 86.40 b 2.50 |&HKicE |- HET 5.00 [FHEE | #r0yh) 1-2k 30.00 [EER
* el 30.00 [ARE [+ R —1hilfik 40.00 |EEE | JUX 0.60 |[B#a=| LW 1.00 [EER | K 49.80
] 0.50 |FH#eEq [~ KoM 5.00 |BHER| HL—H 0.20 |B#R=| [CALA 10.00 [ABEE [+ &YIC< 20.00 |KE
L& 0.50 [ABE |- L&KW 3.00 [ZE& [ K 75.00 TEVE 10.00 [NBE | BB 0.50 [FHieE
* FS 5 1.00 [BRBR] #YA 1.50 [EER |- ¥55H 2.00 [F®Es]| RE 10.00 [ABE | [CAICS 0.30 [ABE
[CAUA 10.00 [N\BE E@‘%’E 1.50 [HA#@E] V< 30.00 [AE IMAZE 10.00 [NBE [~ T55H 1.00 [RHB&
ZERE 15.00 [N\EE 2.00 [HieB | AESH 0.40 [HcB | K 100.00 ZERE 15.00 [N\BE
FoAY 25.00 [NBE |- ElkJ‘U iES 1.00 [BF#E] LESA 0.30 [ABE | ICEL 1.50 [8#as]| ICACA 15.00 [N\BE
* 39500 K 20.00 [EfBA EERE 20.00 [NBE [ KBFEHE 7.00 [ZER | TUF 10.00 [N\BE
ZEnC 10.00 [BFEE| W 15.00 [ABE | [CACA 12.00 [NBE [ L& 1.50 [ZER | Fe—~o 5.00 [\BE
FOTTA 10.00 [NEE [ FvAY 25.00 [N\BE | SE—~Y 6.00 [N\BE | #YA 1.50 [ZER | FINTUAH 5.00 [ABE
LUWED 0.80 [EER | £PL 18.00 [N\BE | #®/\TUR 6.00 [\BE JJX 0.65 [E#BR
+ PER—T 0.60 |B#ER| [CALA 5.00 [ABE | J2UX 0.50 [B#BER|- TIBTELEEX 40.00 [B#E=]| B _ 0.40 [FHicE
K 20.00 S 2.00 [ZEE | Bl 0.20 [FH#cB |- Ao 4.00 [BfBR| CULS 0.20 [EfER
* L&D 110 SRR | Xk 0.50 [EE& | AlL—H 0.14 [BfeE=| EUIC< 10.00 |E
iz 0.50 [#i#b Wi 0.80 [BA#RE| JFEY * 0.0T [BA#E| LLSH 0.30 [ABE | /VRFE 20.00 [NEE
Wiz 0.80 [HA#E] LLS5HD 2.00 [EE8 - SO _ 0.70 [B#B=| TopdUY 10.00 [N\BE
Y] 0.03 [BfE=| DY 0.50 [EWBR[ FvAY 30.00 |[NBE |- BEEXS 5.00 [BfBEs| FrAY 25.00 |N\EBE
Thip 2.00 [A=E - R—=JY 5.00 [AE EFERE 15.00 [N\EE | FEEEI-) 7.00 [ReBR
X 2.00 DL 0.70 |FEE | LIXFH 8.00 [HA®E| [CAVCA 5.00 [NBE |- H#575) 2.00 [EfeBR
CehNE 30.00 [N\BE | ZFRE 20.00 [NEE | =GO 5.00 [HARE| 2.00 [EER
+ EUIC< 15.00 |AE |- AT 5.00 [H#EB | [CACA 10.00 [N\BE | 7 5.00 WiE 1.00 |HA#®E
+ NMESRE 20.00 |[tvnva| ERT 20.00 [N\BE | /IR 15.00 [NHE | #4E 0.50 [HA#RE 5 _ 0.10 | KR
[F558 5.00 |EHBE |- AEEE 20.00 [ronva| JUVX 0.90 [FHB=| KEFHT 150 [Z&& | UL 0.02 [EfE=
EHnC 10.00 [BF#ER]| fEHDOH 2.00 [BRAas| B _ 0.30 [HKEE |- LLdWD 50 [BRE |- Lsow 1.00 [E&ER
[CAUA 10.00 [N\EE | E 1.00 [B#Bs| LS 0.01 [E#B=| BIE 0.03 |#&ia
£PL 15.00 [N\EE | 7 100.00 7 100.00 + PEZ—T 0.10 [BfBE= [ EYIC< 15.00 [AE
FONAZS 8.00 KR |- MBFHT 3.00 [XER i M) ZHRE 0.05 [FER |- HS55H 1.50 |RfEBR
» HEZ—T 0.60 [RGRE[ HEEHT 3.00 [EER | U»hLE 50.00 [N\EE | &H 0.70 [FF#B | ICAUA 10.00 [N\BE
X 100.00 EFERE 20.00 [NEE | TA®H 0.50 [A= TERE 20.00 [NBE
* L& 1.15 [ERR =y 10.00 [&F@EE [ K 0.50 [VEEAAES) 20.00 [N\BE
bl] 1.00 [#&iaE - R=JY 10.00 [AE TOFVE 20.00 [N\BE
BiF 0.30 | iR JUX 0.20 [B#BE [+ smenshanri—t 35.00 |FHFER | DA 15.00 [A\EE
L&D 0.01 BB BIE_ 0.15 |HiER MAEEE 5.00 [Z&& | TUDF 7.00 [\BE
M) FRE 0.05 [AfaE= s L&D 0.30 [EER |- =hhE 5.00 [Z&& | TDE-Z 5.00 |#&faE
* ST 1.00 [EfES VU 0.50 |[NBE | MUk 5.00 [EE® | K 80.00
- HSTH 1.00 [R#E=s 'J‘#E 3.00 [HA#@E|[ JUX 0.50 [BfaBE=
HE 50.00 |&fHEE L&D 0.02 [RfaE= 15.00 » BENS— 5.00 [RfER
- N 5.00 [A
+ Fe 50.00 |5
BIE _ 0.30 | KR
—L&> 0.02 [BfaB=
- EOU-L 3.00 [EfBER
sE—Vo 1.00 [\BE
wINTIN 1.00 [\BE
=ENTUR 1.00 [N\BE




BYI7LI¥F—

X iHEER F sF AR

6H17H BEH] 6H18H _ 6H19H KEER | 6820H ABEH 6H21H &IEH
F7 o &7 &3, 44, # _
FIHRTE AN [FEHDIN FLYTFv—I\ B8R FEIAL—4R
FYUFUARIBDHEST FXUEFRDINE BET F\OA—)v kRS HREREDHHDYSY
SRICALAE - TAN 7455 ZMOFEZ—T CEEFNZ HOAIL—T
AESE)— MNES»H
Bm INRE e Bm e Bmf INyE = Bma INYE [ B e FE |
- FF 206.00 [EE - 5FF| 206.00 - FE 206.00 [HEE - HF| 206.00 |HE - &F 206.00 [HE
.o ] 70.00 [FRILKER |- BE/N * 50.00 _® ] 65.00 [RILKRE:| & 70.00 RAsR| C8 70.00 |7liKs
HETE 2.00 |FE= 7K 25.00 HELE 2.00 [BF#HE| K 84.00 HHETTE 2.00 |#£FE
K 85.00 7K 85.80 i 7K 80.00
+ 3wzlc< 30.00 [AHE » V< 30.00 + hEZR—T 0.30 |BfEm| S 40.00 %;%F?\ » V< 40.00 |HE
US55 1.00 |EB=| SNESH 0.30 + UL 1.00 [EER [+ Led 2.00 [EER ICAIC< 0.50 |N\BE
- BEGE 30.00 |HF#BE| [CAlCL 0.30 = zzlc< 20.00 [AHE SEE 1.30 |#&6 Lo 0.50 |\BE
USIEE 20.00 [B#HB=[- TS5 2.00 M e 0.06 |HEB [CAlc<L .00 |N\BE NEDH 1.50 |HFHEE
=ENRE 40.00 |[A\BE ZERE 30.00 + 2R 20.00 [=f0 ~ S5 1.50 [BHB=
ICALA 10.00 |[A\BE ICALA 15.00 ~ TS5 2.00 |B#HB=| &L 20.00 |N\EE IcAUA 20.00 |N\BE
LWL 0.70 [EER iqul] 7.00 IcAUA 10.00 |N\BE FRY 30.00 [A\BE LERE 40.00 |[A\BE
ADETT 10.00 |[A\BE Ue g 40.00 =FENRE 20.00 |N\EE= [CAUA 10.00 |N\EE Uehng 40.00 |\BE
» L&D 5.00 [EER AV 15.00 BABSADRDELTX 12.00 |FHHEE j%DU 10.00 |N\BEE 7L -2 5.00 |FHHEE
b 2.00 |FHHEE T+ 7.00 BmEEZRE 5.00 [EERE [+ guy 1.50 [BA#HBE| JRF-YV—-R 0.40 |BHE=
A 3.00 [HFMRE| K 15.00 ~ G55 1.00 [B#EBE El‘g”%i 1.50 |BfaB=| TFvvS 2.00 |FHFibB
HYUA 2.00 [Z=ER dJYX 0.60 ] 1.00 |HEB i 2.00 |[B##ER| HAL—JL—70 10.00 |FHibE
K 10.00 Y NME 15.00 BiE 0.10 |&HHBB |- Leop 2.40 Z’%F?‘ "= UF YR 2.00 |FHxiEB
\ TFvvT 5.00 L&D 0.02 |EfBS| FXYIEE 2.40 |ZER JVYX 0.50 |BHB=
- SRS 3.00 |FHFHEE | Wi 0.70 mES:] 0.40 |Z=ER “ 7K 40.00
PITXR 3.00 [B#Bs| B 0.25 NEE» 30.00 |MEBEEXR| AL—#H 0.25 |BHB=
* ARSI 20.00 [1onva] CL&S 0.02 - ROBHES35K 35.00 |&HEB | VA 15.00 |N\BE i
ICAUA 15.00 |[N\BE I\t 0.50 .N=D: 3.50 |B#BER| BT 10.00 |N\EER WA 35.00 |[\E=E
3 0.70 |Z=ER8 ] - SHIBT 5.00 |FHEE | SvoUY 15.00 |\BE
nRE 10.00 |[A\BE TPRANTHR 12.50 R D] 10.00 |[RE [cAUA 10.00 |N\EE FRY 15.00 |N\BE
I\FRSE 10.00 |[A\BE dJ—2 10.00 ESHA 30.00 |N\BE |- A#RSE 15.00 |[1onve| DL 0.50 |F&HEB
D\DB/S‘\L, 1.50 |[BHBEs| FvARY 35.29 ICAUA 10.00 |[N\BE 7] ] 90.00 ~ S5 2.00 |EHBER|
B 1.00 [2%B=| TopSY 10.20 WS =1 20.00 |[ronvg| Hhodba UL 2.00 |BhBs| FiEE 2.00 %%;“L
* SRBEEHT 3.00 [EER EERE 2.13 IR 0.00 |[N\EE En?‘ﬁ 1.00 [E%B=]- LESWD 2.00 [EER
* NBEEHT 3.00 [EER [+ 55 2.50 nRE 0.00 |N\BE |- RBFHET 6.00 Z’%F?‘ OAE 0.20 |BAHEE
HIA 0.80 [EER Etid 2.50 - RER— 0.50 [BfaB=| LD 0.30 [EER |- AWUCE 1.50 [HA#HGE
K 100.00 BE 0.30 * b;o@ 1.00 [EER 5YSHA 2.00 |EHB=
;L/ctj 030 /ﬁ/ ‘OO ﬁl‘ﬁﬁ
SEICACATE =% 40.00 [A= - BYUCE 1.50 Big RES S HhAIL— Tk 35.00 |FRHEE
cL&ED 0.01 [BfB=
NKRZESEU—% 30.00 K 100.00




BY7 LA —x s R lRA 1R

6H24H BEH| 6H25H KEH | 6H26H KEEH| 6H27H AEH] 6H28H &EH
FH 5 F4 K F4 G4 L
FILAFXH KELE [FA ASTIERODZRNGTTAE—N—Z |8k BAEERTDEST
MREBIDT I IR=T BTHECPRNEDEY FORYVETA T —DA—=T ErEEEF N==YR5-}" N LyIus ¥35"
—JIk 5o pEAHET ARHD A bmb\b_\l_ﬁd)ﬁ/uUB(/J\) OLIBDRTFv 25—
1L ,\/
Bm# O3 BE Bmf NHE BE Bmf NHE [ Bm# Y= BE Bt NHE BE |
- 55 206.00 B |- FF 206.00 [EE [ F3 206.00 [#E2 |- 53 206.00 [HE [ &3 206.00 [H2
% 70.00 DmiliRss| C8 60.00 |FRULRER |+ RNNTT4 55.00 |BfE=| C& 70.00 [RlAsE| "8 65.00 [RILAKE
BBTE 2.00 [7£Es HHETE 2.00 |7EEs K 82.50 K 84.00 X 77.00
K 77.00 K 72.00 1U-7" 4 5.00 |BHB= dUX 0.50 [BiB=
+ Wzl 35.00 |AE |- A/=&E® 5.00 |FHEE |- SzIc< 25.00 |FJE |- Fremmmmmnsook 50.00 |BiRx| cYIc< 20.00 [AEE
EERE 45.00 |NBE | »HUxk 0.50 |EER | FESH 1.00 |68 i B 0.50 [KiEE
“AUA 20.00 [N\BE [cAlc< 0.50 [N\BE | U»HRLE 30.00 [A\BE [ [CAUA 10.00 |N\BE=
5 12.00 [ANBE |- Sizlc< 40.00 |AE 1)-7" 44N 1.50 [B#B=| [CAUA 7.00 |[NBE | DEFE 8.00 | NTEE
“Alc< 0.30 [NBE | L&SH 0.30 [N\BE [+ LIN-ZIF5% 3.00 |BfRAER| DECAICPL 10.00 |BEB=| 7WIZY-te-1" Yk 3.00 [EER |
dFIv 1.50 |FFeE | BB 0.50 |FH#aE | £ERE 40.00 |NBE | §E—vU 7.00 |[A\BE |+ L&SH 1.00 |ERE |
+ LEDW 1.50 [ERE |+ LsoW 1.50 |EER | ICAUA 10.00 [ABE |- SElc< 15.00 |AE BiE _ 0.30 [&KiE
+ PEZ—T 0.10 [EfBE| TAH 7.00 [A= =0l 10.00 [NBE |- 55 0.80 [B#aB=| L&D 0.03 [B#B=
M 2.00 [HEE |- AT 2.00 |BfEx| 9 10.00 [N\BE | #1E 0.80 |B#A#aE
HYA 1.50 [EEE | U»hnE 30.00 |[N\BE | XvF—= 10.00 [ABE |+ L&KW 2.50 [EER | oY 25.00 |N\BE
g 1.00 |B##E| ZFERT 20.00 |[NBE | @&NTUh 3.00 |N\BE ‘%EE 1.00 |HFieB | Ty 20.00 |N\BE
C R 0.25 |FRR | [CAVA 25.00 |[NBE | #®&/N\TUh 2.00 |\BE Yh 1.00 [EEE | [CALA 5.00 |\BE
BE 0.30 |HEE | TPLWATA 4.00 |[\BE | aEtVDjXM 3.50 |EER |- EIJt IS 1.00 [BFHEE] IMAE 10.00 |\BE=
L&D 0.01 Lr‘*AﬁA AICAIC»<L 20.00 [B#B= 5.00 _ J—2 10.00 [HKiE
+ YS9 1.00 [EfEa| K 15.00 :I)‘JX 0.50 |B#Bx|- Z-EDH 10.00 |G |- 555 2.00 |BHEBR
 BYCR 1.00 [BFfaE| #iE 1.00 |B&fEE| FVhE 15.00 [EHBES |- KETHE 20.00 [1onve| FRYIEE 2.00 |ER®
* LESH 4.00 |EERE | TFvvT 9.00 |FHE |- AT 10.00 |E#BR| BIF 0.40 [KiE
+ IUIDE 5.00 [HUT ] 0.80 |FH#eE | JRF-V—-X 1.00 [EfeBs |- SRR 5.00 B | CLELS 0.03 [B#B=
» EYIEL 15.00 [AHE B A 0.80 |=ER | BIF _ 0.30 [ieE [CAUA 10.00 |NBE | [I5HD% 1.00 |B##HE
+ J2FC 20.00 |=#0 Thip 0.80 A= L&D 0.03 |[BfBx| NEE» 10.00 [MBESR| 7 39939-F % 0.10 [EER
[d 25.00 [N\BE ] NS 0.03 |HiEE | 0T 8.00 |N\BE
MRS 8.00 |[N\BE |- 3EIc< 10.00 |A9E ftHo& 2.00 [B#BR=|- &YIc< 15.00 [AE
7 100.00 « FHEIARBE 10.00 [B#B=] FoAY 30.00 |[N\EE | Efs 1.00 [EfeBE| Y55 1.00 [EfB=
+ hEZ—T 0.65 |BfB=| [CAUA 10.00 |[\BE |- RO F— 8.00 |HiEE | K 100.00 IcAUA 10.00 |N\BE
+ UL 1.00 [ERE | afs 15.00 |[\BE | £FERE 20.00 |N\BE |- REBEFEHT 7.00 [EERE | £FRE 20.00 |N\BEE
B8iE 0.10 [HaE | FoRY 15.00 |[ABE | U»HWE 30.00 [N\BE | #YA 1.00 [EEE | U»AVE 30.00 [ABE
L&D 0.01 |[B#B=| £&¥L 15.00 [A\BE | [F5NAZS 15.00 [HiE OLESH 15.00 |BfB=
S 0.30 [ZBE | = 5.00 |[AABE | ¥wyall—L 12.00 [B#R= NELHU 10.00 |\BE
Thip 0.60 A= d=2 5.00 |FHEE | JVUX 0.50 |BfB= J X 0.90 [Bi#Bx
K 0.60 IIVIASRE 8.00 [\BE | B& 0.80 |&faE < 2-7° bk 0.10 [B#ER
POENL 1.50 |B#Bx] —UL&LD 0.03 |[B#HBx BiE 0.40 [&KiEE
Y7-hTR3-0" bt 70.00 |RteBs| Bt 0.80 [BiBx|- LLSW 1.00 [EER L&D 0.01 BB
+ REZ—T 0.10 |E#ER| K 120.00 Kip 2.00 [HiEE
+ IREEHE 3.00 |EER » ES[CwD 40.00 |E&E&
+ MEBEHE 3.00 |EER | #HhA 70.00 [HiEE K 50.00
7 90.00 Nl 0.50 |NBE




